The mean score of a set of 12 tests 1s 68. What 1s the sum of the 12
tests scores?

The mean score on a set of 15 college entrance exams 1s 87. What 1s
the sum of the 15 exam scores?



Two sets of data are given: the first set of data has 20 scores with a
mean of 50, and the second set of data has 33 scores with a mean of
75. What is the mean if the two sets of data are combined?

In a math class Joe takes 10 tests with a mean score of 79. To get a
‘B’ 1n the course students need a mean score of 80. What 1s wrong
with the argument that Joe missed getting a ‘B’ by 1 point?



